

Kansas Corporation Commission Oil & Gas Conservation Division

1065839

Form ACO-1

June 2009

Form Must Be Typed

Form must be Signed

All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #	API No. 15					
Name:	Spot Description:					
Address 1:	SecTwpS. R					
Address 2:	Feet from North / South Line of Section					
City: State: Zip:+	Feet from East / West Line of Section					
Contact Person:	Footages Calculated from Nearest Outside Section Corner:					
Phone: ()	□NE □NW □SE □SW					
CONTRACTOR: License #	County:					
Name:	Lease Name: Well #:					
Wellsite Geologist:	Field Name:					
Purchaser:	Producing Formation:					
Designate Type of Completion:	Elevation: Ground: Kelly Bushing:					
☐ New Well ☐ Re-Entry ☐ Workover	Total Depth: Plug Back Total Depth:					
☐ Oil ☐ WSW ☐ SIOW ☐ Gas ☐ D&A ☐ ENHR ☐ SIGW ☐ OG ☐ GSW ☐ Temp. Abd. ☐ CM (Coal Bed Methane) ☐ Cathodic ☐ Other (Core, Expl., etc.):	Amount of Surface Pipe Set and Cemented at: Feet Multiple Stage Cementing Collar Used?					
If Workover/Re-entry: Old Well Info as follows:	·					
Operator: Well Name:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)					
Original Comp. Date: Original Total Depth: Conv. to ENHR	Chloride content: ppm Fluid volume: bbls Dewatering method used:					
Plug Back: Plug Back Total Depth	Location of fluid disposal if hauled offsite:					
Commingled Permit #:	Operator Name:					
Dual Completion Permit #:	Lease Name: License #:					
SWD Permit #:	Quarter Sec TwpS. R					
☐ ENHR Permit #: ☐ GSW Permit #:	County: Permit #:					
Spud Date or Date Reached TD Completion Date or Recompletion Date Recompletion Date Recompletion Date						

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

KCC Office Use ONLY
Letter of Confidentiality Received
Date:
Confidential Release Date:
Wireline Log Received
Geologist Report Received
UIC Distribution
ALT I I II Approved by: Date:

Side Two



Operator Name:			Lease Name	e:			_ Well #:	
Sec Twp	S. R	East West	County:					
time tool open and clos	sed, flowing and shut s if gas to surface tes	I base of formations per in pressures, whether set, along with final chart well site report.	shut-in pressure	reached s	static level,	hydrostatic press	sures, bottom h	ole temperature, fl
Orill Stem Tests Taken (Attach Additional S		Yes No		Log	Formatio	n (Top), Depth an	d Datum	Sample
Samples Sent to Geolo		☐ Yes ☐ No	N	lame			Тор	Datum
Cores Taken Electric Log Run Electric Log Submitted (If no, Submit Copy)	I Electronically	Yes No Yes No Yes No						
List All E. Logs Run:			RECORD [Used			
	Size Hole	Report all strings set- Size Casing	-conductor, surface Weight		ate, producti Setting	on, etc. Type of	# Sacks	Type and Percen
Purpose of String	Drilled	Set (In O.D.)	Lbs. / Ft.		Depth	Cement	Used	Additives
		ADDITIONA	L OFMENTING (00115575	DECORD			
		ADDITIONA	L CEMENTING / :	SQUEEZE	RECORD			
Purpose: Perforate Protect Casing Plug Back TD Plug Off Zone	Depth Top Bottom	Type of Cement	# Sacks Used	d		Type and F	Percent Additives	
Shots Per Foot		ON RECORD - Bridge Plu ootage of Each Interval Pe				cture, Shot, Cement mount and Kind of Ma	•	d Depth
TUBING RECORD:	Size:	Set At:	Packer At:	Line	r Run:	Yes No		
Date of First, Resumed I	Production, SWD or ENI	HR. Producing Me	thod:	Gas Li	ift C	Other (Explain)		
Estimated Production Per 24 Hours	Oil E	Bbls. Gas	Mcf	Water	В	ols. (Gas-Oil Ratio	Gravity
DISPOSITIO	Used on Lease	Open Hole	METHOD OF COM Perf. D (Sub	MPLETION: ually Comp omit ACO-5)	. Cor	nmingled mit ACO-4)	PRODUCTIO	DN INTERVAL:
(If vented, Sub	mit ACO-18.)	Other (Specify) _						

7091



211 W. 14TH STREET, CHANUTE, KS 66720 620-431-9500

AFE

D11064

TREATMENT REPORT

& FIELD TICKET CEMENT

FIELD TICKET REF # ___

FOREMAN JeBianchard

SSI <u>631300</u>

TICKET NUMBER

API 15-125-32101

DATE	WELL NAME & NUMBER					SECTION	TOWNSHIP	RANGI	COUNTY
4/7/1	CampB	ell :	プレタナル	33-1		33	34	17	MG.
FOREMAN /	TIME	TIME	LESS	TRUCK		TRAILER	TRUCI	<	EMPLOYEE
OPERATOR	IN	OUT	LUNCH	#		#	HOUR	S	SIGNATURE
MAH NAST	8:AM	17:30PM		903600			5.5	5 0	nodel///
Jae Blanche	8:00		÷	904850				-	LBUN
Wes Gahman	8:00							(Oselahna
Tichia F. Jansen	8:00							4	astlfai
		V							
JOB TYPE Langston	HOLE S	SIZE 77/	8 н	OLE DEPTH	50	CASIN	IG SIZE & WI	EIGHT _	51/2 14年
CASING DEPTH /040							R		
SLURRY WEIGHT /3	.5 SLURR	Y VOL	W	ATER gal/sk		CEME	NT LEFT in C	CASING_	
DISPLACEMENT 24.									
REMARKS:		OLIVILIA TOT						7	
	g ' s.	1 5-		A 1	n - (1		6	
Installed C	em ent h	read KAI	2 1 2 12	7 4 16 RI	3(0	ye or 1	P2 2K2	AT C	ement to
get alyesto s	inface.	Flushed	pump.	rumped Wip	er	olug to	pottom	4 8	testtes
Shoe.									
Started Ca	SiNC 10	:00 S	ravted c	'emout /1:0	0				

ACCOUNT CODE	QUANTITY or UNITS	DESCRIPTION OF SERVICES OR PRODUCT	TOTAL AMOUNT
904850	5.5 h	Foreman Pickup	
903197	l he		
903600	he	Bulk Truck	
931505	ha	Transport Truck	
931395	hr	Transport Trailer	
	V	80 Vac	
	1040.23 Ft	Casing 5 1/2	
	6	Centralizers	
	1	Float Shoe	
	1	Wiper Plug	
A 1917 (2)	1	Frac Baffles 412" Big Hole	5.7
	130 SK		
	30 5K	Gilsonite	
	1 SK	Flo-Seal	
	9 SK	Premium Gel	
	'5 Sk	Cal Chloride	
	1	40 5/2 Bosket	
	7000 gal	City Water	
903142	4 h	- Casing trocter	
932899	4 hr	Casing frailorR	

Tod. Thomato Outloop Thursdog 06/16/11@3PM.

Pipe#	Length	Punning Total	Baffle Location	DOSTDOCK ENERGY CORD CASING TALLY CUEFT
1 1	36.75	36.75	pairie Location	POSTROCK ENERGY CORP - CASING TALLY SHEET
2	39.42	76.17	Cement Basket	Date: 6/16/11
3	39.42	116.15	Cement Basket	Well Name & #: Campbell, Justin R. 33-1
4	38.93	155.08		Township & Range: 34S-17E
5	38.41	193.49	V 1931A	County/State: Montgomery / Kansas SSI #: 631300
6	38.59	232.08		AFE#: D11054
7	39.39	271.47		Road Location: Hwy 166 & 5500 Rd., N & E into
 8	39.20	310.67		API# 15-125-32101
9	40.00	350.67		AFI# 15-125-52101
10	39.11	389.78		
11	38.37	428.15	No Bollle Si	et have. Not every room.
12	39.64	467.79	NOBOGES	as the control of some property the sort.
13	39.43	507.22		
14	39.26	546.48		
15	39.18	585.66		
16	38.86	624.52		
17	39.38	663.90		
18	39.45	703.35		
19	39.27	742.62		
20	39.12	781.74	- Sed former	Boffle@781.74 ft. Big Hole *
(21)	38.69	820.43		
22	38.60	859.03		
23	39.76	898.79		
24	38.13	936.92		
25	39.40	976.32		
26	38.91	1015.23		
Sub	25.00	1040.23	Tally Bottom	
-A	1000	0006	TASA S	7-11-2515
	vec v		710000	V VIR aspersour.
	$-\Omega \lambda +$	NAT	100 110	and the same
	200	100 1 1		e signed your control of
			7 /	<u> </u>
		Res	The second	
			om to constant and constant as a No. 1600 table table that the Constant and the Constant and Con	

Mess Top 911 fd. Talls Botton 1040.23 fd. Orille D 1050 fd. Log Botton 1050,90 fd.

Teamwork works! Put Safety 1st!

80 Geologia 8 620305 9900 06-16-2011

Air Drilling Specialist Oil & Gas Wells

THORNTON AIR ROTARY, LLC Office Phone: 620-879-2073

PO Box 449 Caney, KS 67333

Date Started	6/15/2011
Date Completed	6/16/2011

Well No.	Operator	Lease	A.P.I #	County	State
33-1	Post Rock Energy	Campbell, Justin	15-125-32101-00-00	Montgomery	Kansas
1/4	1/4	1/4	Sec.	Twp.	Rge.
			33	34	17 E
Driller	Type/Well	Cement Used	Casing Used	Depth	Size of Hole
Sean	Gas	4	22' 85/8	1050	77/8

Formation Record

		rumat	ion kecora		
0-2	DIRT	420-424	BLK SHALE (MULKEY)	1050	GAS TEST-1#,1",MCF-137
2-3	RIVER ROCK	424-427	LIME	1050	TD
3-13	LIME	427-444	SHALE		
13-20	SANDY SHALE	430	GAS TEST-2#, 3/8, MCF-27		
20-64	SHALE	444-445	COAL		
64-76	LIME	445-490	SHALE		
76-79	BLACK SHALE	490-494	SAND		
79-91	LIME	494-546	SANDY SHALE		
91-100	SHALE	505	GAS TEST - SAME		
100-121	SAND	546-547	COAL		
121-130	SHALE	547-570	SHALE		
130-149	SAND	555	WENT TO WATER		
149-190	SANDY SHALE	570-590	SAND		
190-233	SHALE	590-635	SHALE		
230	GAS TEST - NO GAS	635-636	COAL?		
233-235	LIME	636-646	SAND		
235-238	BLK SHALE (MULBERRY)	646-649	COAL		
238-242	SHALE	649-660	SAND		
242-264	LIME (PAWNEE)	655	GAS TEST-28#, 1/2, MCF-222		
255	GAS TEST - NO GAS	660-700	SANDY SHALE		8
264-269	BLK SHALE (LEXINGTON)	700-720	SHALE		
269-290	SHALE	720-721	COAL		T T
290-306	SAND (PERU)/OIL ODOR	721-896	SHALE		
306-310	SANDY SHALE	731	GAS TEST-1 1/2#,1",MCF-169		
310-330	SAND / OIL ODOR	896-898	COAL		
330-356	SHALE	898-908	SHALE		
356-386	LIME (OSWEGO)	906	GAS TEST-1#,1",MCF-137		
386-390	BLK SHALE (SUMMIT)	908-925	LIME (MISS.)		
390-420	LIME	925-1050	LMY CHIRT		
405	GAS TEST - NO GAS	981	GAS TEST - SAME		